श्रेणी SERIES: II

Daman 21<sup>st</sup> July, 2017 30 Asadha, 1939 (Saka)

स. : 27





### श दमण एवं दीव प्रशासन

U.T. ADMINISTRATION OF DAMAN & DIU

प्राधिकरण द्वारा प्रकाशित PUBLISHED BY AUTHORITY

GOVERNMENT OF INDIA, U.T. ADMINISTRATION OF DAMAN & DIU, GOVT. INDUSTRIAL TRAINING INSTITUTE, CHOGHLA – DIU.

No. ITI/DIU/PER/IAS/2017-18/72

Dated: 29/06/2017.

Read: Application dated 26/04/2017 from Shri Ibrahim Adam Sheikh, Maths Instructor, Govt. Industrial Training Institute, Ghoghla – Diu.

#### ORDER

On the basis of the appropriate records furnished as per Chapter 57, published in the Swamy's Establishment and Administration Manual by Shri Ibrahim Adam Sheikh, Maths Instructor, Govt. Industrial Training Institute, Ghoghla – Diu. It is hereby ordered that the name of Shri Ibrahim Adam Sheikh be read as **IBRAHIMO ADAMO** instead of Shri Ibrahim Adam Sheikh in all his Government Service Records.

This is issued with the approval of the Hon'ble Advisor to Administrator/Appointing Authority, Daman & Diu vide diary No. 205093 dated 11/05/2017.

Sd/(M. B. KAMALIA)
Vice Principal,
T.T.I. DIU & H.O.
I.T.I Ghoghla – Diu.

SERIES II No.: 27

DATED : 21<sup>ST</sup> JULY, 2017.

No. 37/NVBDCP/DMN/IRP/2017-18/231 U.T. Administration of Daman & Diu Directorate of Medical and Health Services Primary Health Centre, Moti Daman – 396 220.

Dated: 08/07/2017.

#### ORDER

On the basis of records furnished by Ishwarbhai Ravia Patel, Field Worker (MTS) of NVBDCP, Daman is hereby allowed to change his name to "ISHWARBHAI RAVIABHAI HALPATI" in service record.

This is issued with the approval of Advisor to Administrator/Appointing Authority, Daman & Diu vide diary No. 222462 dated 30/06/2017.

Sd/(Dr. V. K. Das)
Director,
Medical & Health Services,
Daman & Diu.

**※※※** 

SERIES II No. : 27

DATED : 21<sup>ST</sup> JULY, 2017.

### **U. T. ADMINISTRATION OF DAMAN & DIU**

Standarad Operating

Procedure

(SOP)

For finalization of Compensation and Disbursement of claims towards victims of Natural Calamities and Accident etc. under NDRF, SDRF and Guidelines of U. T. Administration.

#### 1.1 Introduction:

In the aftermath of disasters the affected people must be looked after for their safety, security and the well being and provided food, water, shelter, clothing, medical care etc. so as to ensure that the affected people live with dignity. State Governments shall be responsible for providing promt and adequate relief assistance to the victims of Natural Clamities.

#### 1.2 Rescue & Relief:

During the Disaster and after the Disaster Rescues & Relief work to be carried out on urgent basis by all the Departments like PWD, Police Department, Fire & Emergency Services, Health Department and other key departments alongwith the main ground level teams Chief Officer, Daman Municipal Council, Mamlatdar, Block Development Officer, Superintendent under the Supervision of Collector/District Magistrate, Daman. All line department, Police Local Government Bodies, and NGOs to look after of victims for their safety, security and to provide food, water, shelter, clothing, medical care, financial assistance etc., on priority.

#### 1.3 <u>Inspection and assessment of Losses</u>:-

The Committees for Rural (Panchayat Area) and Urban (Municipal Area) will inspect the site and assess the loss immediately and submitted report within 24 hours of the Damage, To the Collector, Daman/Diu. The detailed report with justification and the estimated cost of loss and with recommendation for financial assistance to the victims will be submitted to Collector/District Magistrate for grant of financial compensation to the victims.

The Committees formed for the assessment of damage and submission of report is their respective jurisdiction :

#### Rural Area of Daman/Diu District

1.	Mamlatdar	Member
2.	Sarpanch of the concern Gram Panchayat	Member

#### > Urban Area of Daman/Diu District

1.	Chief Officer, Daman/Diu Municipal Council	Member
2.	Municipal Engineer, Dmana/Diu Municipal Council	Member

#### 1.4 Evaluation of Report and Recommendations :-

The Committee constituted by the Collector, Daman vide Order No. COL-DMN/DM-Relief-Victim/2017-18/3911 dated 09/05/2017 will evaluate the amount of financial assistance to be paid to victims. The Committee will submit proposal to Collector/Relief Commissioner to grant financial assistance as per Notifications/Orders/Circulars issued by the Government of India and U.T. Administration of Daman & Diu time to time. The Committee is as under:

SERIES	II	No.	: 2	27
DATED	: 21	[ST ]	JLY	, 2017.

1.	Deputy Collector (Gen), Daman	Chairman
2.	Mamlatdar, Daman	Member
3.	Block Development Officer, Daman	Member
4.	Accountant, Collectorate, Daman	Member

#### 1.5 Approval of Financial Assistance:

The proposal to sanction the financial assistance to the vicitims of natural Calamities will be sent to the Hon'ble Administrator, Daman & Diu with the recommendation of Collector/Relief Commissioner. However, immediate relief as per the NDRF/SDRF U. T. Administration of Daman & Diu norms should be disbursed immediately after the report is received from the team in at 1.3.

#### 1.6 <u>Disbursement of Financial Assistance</u>:-

After the sanction of Financial Assistance the amount shall be drawn by the Collector on Abstract Contingency Bills (AC Bills) quoting the sanction dairy No. and date.

The amount which is to be paid to the vicitims must be paid by Digital mode only. No cash transaction is permissible.

The Accountant, Collectorate, Daman will disburse the amount and the same shall be credited to the Bank account of Victims.

The "Discretionary Grant Register" must be properly maintained by the Accountant, Collectorate and the same will be attested/counter signed by the Collector, Daman.

Sd/-(Krishan Kumar) Deputy Collector (Gen) Daman

No. COL/DMN/DM/RELIF-VICTIM/2017-18/6193 Office of the Collector, Daman. Disaster Management Cell, Collectorate, Daman, Dholar, Moti Daman.

Dated: 17/07/2017.

 $X \times X$ 

## U.T. ADMINISTRATION OF DAMAN & DIU REVENUE DEPARTMENT, COLLECTORATE, DAMAN.

No. 5/7/COL/LAND-ACQ/2015-16/6268 Dated: 19/07/2017.

#### **NOTICE**

WHEREAS, vide Preliminary Notification No. 5/7/COL/LAND-ACQ/2015-16/352/COLLDMN/2016 dated 17/02/2016, it was Notified under section 11 of the Right to Fair compensation and Transparency in land Acquisition, Rehabilitation and Resettlement Act, 2013, that the land described in the schedule hereto (thereafter referred to as the said land/lands) were needed or likely to be needed for the public purpose, namely for the purpose of construction of High level Bridge across River Damanganga connecting Zari and Kachigam villages in Daman District.

**WHEREAS,** a report was submitted to the Government Authority i.e. Administrator of Daman & Diu for the proceed with acquisition process and the same has been approved by the Appropriate Government i.e. Administrator of Daman & Diu.

**WHEREAS,** vide Declaration No. 5/7/COL/LAND-ACQ/2015-16/5631 dated 28/06/2017, it was declared under the provision of Section 19 of the Land Acquisition, Rehabilitation Act that the said lands are required for the public purpose, and namely for the purpose of construction of High level Bridge across River Damanganga connecting Zari and Kachigam Villages in Daman District.

WHEREAS, in connection with acquisition of land measuring 21494.00 sq. mtrs. for construction of High level Bridge across River Damanganga connecting Zari and Kachigam Villages in Daman District, the Administration of Daman intends to take possession of the land, the particulars of which are given in the declaration u/s 19 (1) of the Right to Fair compensation & Transparency in Land Acquisition Rehabilitation and Resettlement (RFCTLARR) Act, 2013.

**WHEREAS**, under Section 21 of the RFCTLARR Act, 2013, the Government intend to take possession of the land on <u>20/08/2017 at 10.00 hrs.</u>, and claims to compensations and rehabilitation and resettlement for all interests in the land, has to be submitted to the Collector for disposal on or berore <u>18/08/2017 at 15.00 hrs.</u>

The details compensation on the land acquisition as per the **Annexure – I, II & III** are enclosed herewith.

WHEREAS, under sub section (1) & (2) of Section 22 of the said Act, the Collector may also require any such person to make or deliver to him a statement containing the name of every other person possessing any interest in the land or any part thereof as coproprietor, sub-proprietor, mortgage, tenant or otherwise, and of the nature of such interest, and of the rents and profits, if any received or receivable on account thereof for three years next preceding the date of statement, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 176 of the Indian Penal Code (45 of 1860).

**NOW THEREFORE,** to facilitate causation of the above requirements, public notice is hereby served under section 21 of the RFCTLARR Act, 2013 that all persons having interest in the said land to appear personally or by agent or advocate before the Collector, Daman on **15/08/2017** and to state in writing and signed by the party or his agent, the following.

- a) The nature of their respective interest in their land;
- b) The amount and particulars of their claims to compensation for such interests;
- c) Their objection if any to the measurements made and marked on the referredarea.

Please take notice that as provided under sub section 22 of the aforesaid Act, every person required to make or deliver a statement under this section shall be deemed to be legally bound to do so within the meaning of section 175 and 178 of the Indian Penal Code (45 of 1860).

Sd/-(Sandeep Kumar Singh) Collector, Daman

**※※※** 

#### Annexure - I

# <u>Details of Compensation of Lands for construction of High leval</u> <u>Bridge across River Damanganga connecting Zari and Kachigam</u> <u>Villages in Daman.</u>

Sr. No.	Survey No.	Area of land acquired in (Sq. Mtrs.)	Name of persones believed to be having interest	Class of land	Market value @ 100 Sq. Mtrs. for village Zari Rs. 35044/-, for village Kachigam Rs. 87,610/- (Agriculture land) and for NA land Rs. 2,83,148/-	Multiplication Factor 2	Solatium 100 % on Multiplication value of land	Total compensation on land
1	2	3	4	5	6		7	8
1.	72	100	Paliben Babu	Agri	35044.00	70088.00	70088.00	140176
2.	73/1	782	Karshan Raghla Suraj Raghla	Agri	274044.00	548088.00	548088.00	1096176

	6010	P.0	1/2 L Di	A . •	20225 52	40654.00	40054 00	01202
3.	68/8	58	Kishan Bhagu	Agri	20325.50	40651.00	40651.00	81302
4.	68/9	1000	Babu Bhagu	Agri	350440.00	700880.00	700880.00	1401760
5.	68/7	25	Suraj Raghla	Agri	8761.00	17522.00	17522.00	35044
6.	68/10	1000	Chhibu Ganda	Agri	350440.00	700880.00	700880.00	1401760
7.	68/11	1000	Parshottam Ramka	Agri	350440.00	700880.00	700880.00	1401760
8.	68/13	364	Daya Naran	Agri	127560.00	255120.00	255120.00	510240
9.	68/12	1000	Ranchhod Bucha	Agri	350440.00	700880.00	700880.00	1401760
10.	75/2	2222	Vajir Bucha, Natu Bucha, Amrat Bucha	Agri	778677.50	1557355.00	1557355.00	3114710
11.	75/3	2560	Navin Keshav Patel	Agri	897126.50	1794253.00	1794253.00	3588506
12.	76/1	3083	Kabliben Ganda	Agri	1080407.00	2160814.00	2160814.00	4321628
13.	74/3	104	Ukkad Rama, Chandu Raman	Agri	36446.00	72892.00	72892.00	145784
14.	74/1	638	Navin Keshav Patel	Agri	223580.50	447161.00	447161.00	894322
15.	79/1	230	Karshan Raghla, Suraj Raghla	Agri	80601.00	161202.00	161202.00	322404
16.	73/2	1175	Ukkad Rama, Chandu Raman	Agri	411767.00	823534.00	823534.00	1647068
17.	376/1-F	190	Bhana Bhula, Kiku Bhula, Sakaram Bhula, Navin Bhula	Agri	166459.00	332918.00	332918.00	665836
18.	382/A	100	The Government	-	0	0	0	0
19.	382/B	580	The Government	-	0	0	0	0
20.	383	3075	Kikubhai Kalidas, Parvatiben Manu, Chhotubhai, Chhibubhai, Chandubhai, Chhibubhai, Champaben, Dhirubhai, Mithunbhai,	Agri		5388015.00	5388015.00	
21.	385/7	852	Chhagan Hira	Agri	746437.00	1492874.00	1492874.00	2985748
22.	382/-	1270	Chhotubhai Patel, Sudhaben Patel	NA	3595980.00	7191960.00	7191960.00	
23.	385/7-B	86	Ramesh Chhagan	Agri	75344.50	150689.00	150689.00	301378
							12654328.00	50617312

Sd/-(Sandeep Kumar Singh) Collector, Daman

Place: Daman. Dated: / /2017.

Annexure – II

Details of Compensation of Assets for construction of High level Bridge across
River Damanganga connecting Zari and Kachigam Villages in Daman.

Sr. No.	Survey No.	Name of the persons believed to be having interest	Type of trees	No. of trees	Rate	Total	Compensation of trees	Solatium 100%	Grand Total
1	2	3	4	5	6	7	8	9	10
: :			Khajuri	6	3,600.00	21,600.00	25600.00	25600.00	51200.00
1	72	Paliben Babu	Jangli	8	500.00	4,000.00		,	
			Sag	4	2,500.00	10,000.00	127500.00	127500.00	255000.00
			Coconut	2	30,000.00	60,000.00			
2	73/1	Karshan Raghla,	Kaju	1	1,000.00	1,000.00			
	_	Suraj Raghla	Khajuri	15	3,600.00	54,000.00			
			Limdo	5	500.00	2,500.00			
			Jungli	2	500.00	1,000.00	12800.00	12800.00	25600.00
3	68/8	Kishan Bhagu	Bordi	1	1,000.00	1,000.00	1		
			Khajuri	3	3,600.00	10,800.00	]		
			Khajuri	4	3,600.00	14,400.00	36400.00	36400.00	72800.00
			Bair	14	1,000.00	14,000.00			
4	68/9	Babu Bhagu	Limdo	2	500.00	1,000.00			
			Amli	2	1,000.00	2,000.00			
			Jungli	10	500.00	5,000.00			
г	69/7	Curai Daghla	Bair	1	1,000.00	1,000.00	3000.00	3000.00	6000.00
5	68/7	Suraj Raghla	Jungli	4	500.00	2,000.00			
			Khajuri	15	3,600.00	54,000.00	70500.00	70500.00	141000.00
			Sagdo	4	500.00	2,000.00			
			Samar	3	500.00	1,500.00			
6	68/10	Chhibu Ganda	Bair	4	1,000.00	4,000.00			
0	00/10	Ciliibu Garida	Bavar	3	500.00	1,500.00			
			Limdo	5	500.00	2,500.00			
			Singda	2	1,000.00	2,000.00			
			Amli	3	1,000.00	3,000.00			
			Bair	12	1,000.00	12,000.00	28200.00	28200.00	56400.00
7	68/11	Parshottam Ramka	Khajuri	2	3,600.00	7,200.00			
′	00/11	raisiivualii Kaliika	Sagda	6	1,000.00	6,000.00	]		
			Jungli	6	500.00	3,000.00			
			Khajuri	4	3,600.00	14,400.00	15400.00	15400.00	30800.00
8	68/13	Daya Naran	Limdo	1	500.00	500.00			
			Jungli	1	500.00	500.00			

			Bavar	8	500.00	4,000.00	89000.00	89000.00	178000.00
			Bair	10	1,000.00	10,000.00			
_	68/12		Khajuri	15	3,600.00	54,000.00			
9		Ranchhod Bucha	Kher	5	0.00	0.00	,		
			Mango	1	15,000.00	15,000.00			
			Jungli	12	500.00	6,000.00			-
			Mango	5	15,000.00	75,000.00	393500.00	393500.00	787000.00
			Jungli	60	500.00	30,000.00			
	75 (0	Bajir Bucha,	Sagda	9	1,000.00	9,000.00			
10	75/2	Natu Bucha, Amrat Bucha	Samar	15	500.00	7,500.00			
		Ailliat Ducila	Khajuri	70	3,600.00	2,52,000.00			
			Bair	20	1,000.00	20,000.00			
	/-		Khajuri	90	3,600.00	3,24,000.00	336500.00	336500.00	673000.00
11	75/3	Navin Keshav Patel	Bavar	25	500.00	12,500.00			
			Samar	5	500.00	2,500.00	198500.00	198500.00	397000.00
			Khajuri	20	3,600.00	72,000.00			
	7.44		Mango	6	15,000.00	90,000.00			
12	76/1	Kabliben Ganda	Bair	25	1,000.00	25,000.00			
	:		Limdo	8	500.00	4,000.00			
:			Jungli	10	500.00	5,000.00			
		Ukkad Rama, Chandu Raman	Sag	3	2,500.00	7,500.00	22900.00	22900.00	45800.00
13	74/3		Khajuri	4	3,600.00	14,400.00			
			Jungli	2	500.00	1,000.00			
	744		Bair	30	1,000.00	30,000.00	34000.00	34000.00	68000.00
14	74/1	Navin Keshav Patel	Sagdo	4	1,000.00	4,000.00			
			Sag	3	2,500.00	7,500.00	88400.00	88400.00	176800.00
			Mango	4	15,000.00	60,000.00			
15	79/1	Karshan Raghla,	Limdo	2	500.00	1,000.00			
	·	Suraj Raghla	Khajuri	4	3,600.00	14,400.00			
			Jungli	11	500.00	5,500.00			
			Khajuri	20	3,600.00	72,000.00	77500.00	77500.00	155000.00
			Bavar	1	500.00	500.00			
16	73/2	Ukkad Rama, Chandu Raman	Jungli	7	500.00	3,500.00			
	·	Changu Kaman	Bamboo	4	0.00	00	,		
			Samar	3	500.00	1,500.00			
		Bhana Bhula, Kiku	Mango	3	15,000.00	45,000.00	45000.00	45000.0	90000.00
17	376/1-F		Temrin	1	0.00	00			1
		Bhula, Navin Bhula	Other	2	0.00	00			
18	382/A	The Government				****			
19	382/B	The Government					NA 54 N		

		Kikubhai Kalidas,	Babul	18	0.00	00	72000.00	72000.00	144000.00
20	383	Parvatiben Manu, Chhotubhai Chhibubhai, Chandubhai Chhibubhai, Champaben Dhirubhai, Mithunbhai	Khajuri	20	3,600.00	72,000.00			
			Mango	12	15,000.00	1,80,000.00	187200.00	187200.00	374400.00
21	385/7	Chhagan Hira	Khajuri	2	3,600.00	7,200.00			
			Other	2	0.00	00	·		
22	382/-	Chhotubhai Patel, Sudhaben Patel				₩₩.			
23	385/7-B	Ramesh chhagan	Mango	2	15,000.00	30,000.00	30000.00	30000.00	60000.00
			1893900.00	1893900.00	3787800.00				

Sd/-(Sandeep Kumar Singh) Collector, Daman

Annexure – III

Details of total compensation for construction of High level Bridge across River

Damanganga connecting Zari and Kachigam Villages in Daman.

1 Paliben 2 Karshar Suraj R 3 Kishan 4 Babu B 5 Suraj R 6 Chhibu 7 Parshot 8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu	ne of the persons believed to be having interest	Survey No.	Area in Sq. Mtrs.	Total
1 Paliben 2 Karshar Suraj R 3 Kishan 4 Babu B 5 Suraj R 6 Chhibu 7 Parshot 8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubhar Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	2	3	4	5
2 Karshar Suraj R 3 Kishan 4 Babu B 5 Suraj R 6 Chhibu 7 Parshot 8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga		72	100	191376
Suraj R  3 Kishan  4 Babu B  5 Suraj R  6 Chhibu  7 Parshot  8 Daya N  9 Ranchh  10 Vajir Bu Natu Bu Amrat I  11 Navin k  12 Kablibe  13 Ukkad I Chandu  14 Navin k  15 Karshan Suraj R  16 Ukkad I Chandu  17 Bhana Sakarai  18 The Go  19 The Go  20 Kikubha Parvatil Chhotu Chandu Champ Mithunl  21 Chhaga	nan Raghla,	73/1	782	1351176
3 Kishan 4 Babu B 5 Suraj R 6 Chhibu 7 Parshot 8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat B 11 Navin k 12 Kablibe 13 Ukkad Bu Chandu 14 Navin k 15 Karshan Suraj R 16 Ukkad Chandu 17 Bhana Sakarai 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Chandu Champ Mithunl 21 Chhaga				
5 Suraj R 6 Chhibu 7 Parshot 8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	an Bhagu	68/8	58	106902
5 Suraj R 6 Chhibu 7 Parshot 8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana I Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga		68/9	1000	1474560
6 Chhibu 7 Parshot 8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat B 11 Navin k 12 Kablibe 13 Ukkad Bu Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad Bu Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	i Raghla	68/7	25	41044
8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana I Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	ou Ganda	68/10	1000	1542760
8 Daya N 9 Ranchh 10 Vajir Bu Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana I Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	nottam Ramka	68/11	1000	1458160
9 Ranchh 10 Vajir Bu Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana I Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga		68/13	364	541041
Natu Bu Amrat I 11 Navin k 12 Kablibe 13 Ukkad Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	hhod Bucha	68/12	1000	1579760
Amrat I 11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana I Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	Bucha,			
11 Navin k 12 Kablibe 13 Ukkad I Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad I Chandu 17 Bhana I Sakarar 18 The Go 19 The Go 20 Kikubhar Parvatil Chhotu Chandu Chandu Champ Mithunl 21 Chhaga	Bucha,	75/2	2222	3901711
12 Kablibe 13 Ukkad Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	it Bucha			
13 Ukkad I Chandu 14 Navin k 15 Karshai Suraj R 16 Ukkad I Chandu 17 Bhana Sakarai 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	n Keshav Patel	75/3	2560	4261506
Chandu 14 Navin k 15 Karshar Suraj R 16 Ukkad Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubhar Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	ben Ganda	76/1	3083	4718626
14 Navin k 15 Karshar Suraj R 16 Ukkad Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	d Rama,	74/3	104	191583
15 Karshar Suraj R 16 Ukkad Chandu 17 Bhana Sakarar 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	du Raman	74/3	104	
Suraj R 16 Ukkad Chandu 17 Bhana Sakarai 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	n Keshav Patel	74/1	638	962323
16 Ukkad Chandu 17 Bhana Sakarai 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	nan Raghia,	79/1	230	499205
Chandu 17 Bhana Sakarai 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	i Raghla	7 5/1	250	155205
17 Bhana Sakarai 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	d Rama,	73/2	1175	1802068
Sakarai 18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	du Raman	15/2	11/3	1002000
18 The Go 19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	a Bhula, Kiku Bhula,	376/1-F	190	755836
19 The Go 20 Kikubha Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	ram Bhula, Navin Bhula			
20 Kikubha Parvatil Chhotu Chandu Champ Mithunl	Government	382/A	100	00
Parvatil Chhotu Chandu Champ Mithunl 21 Chhaga	Government	382/B	580	00
Chhotu Chandu Champ Mithunl 21 Chhaga	ohai Kalidas,			
Chandu Champ Mithunl 21 Chhaga	atiben Manu,			
Champa Mithunl 21 Chhaga	tubhai Chhibubhai,	383	3075	10920030
Mithunl 21 Chhaga	dubhai Chhibubhai,			
21 Chhaga	npaben Dhirubhai,			
	unbhai Dhirubhai	205/2	0.52	2260140
		385/7	852	3360149
	otubhai Patel, Iaben Patel	382/-	1270	14383918
	esh Chhagan	385/7-B	86	361378
	TOTAL:	1	21500	54405112

Sd/-(Sandeep Kumar Singh) Collector, Daman.

#### U.T. Administration of Daman & Diu, Home Department, Secretariat, Daman.

No. 1/DC/Home/Prisons/18/2017-18/888

Dated: 19/07/2017.

READ: Letter No. Judi/5/5083/2017 dated 12<sup>th</sup> July, 2017 from the Office of the Additional D. G. & I. G. Prisons, Gujarat State, Ahmadabad.

#### ORDER

The prisoners confined in Sub-Jail Diu of Diu District are transferred to Amreli District Jail, Government of Gujarat State with immediate effect, subject to the following conditions:

- 1. The concerned prisoners must adhere to the Gujarat State Prison Rules. Moreover, the rules of Jail Department of Gujarat State relating to jail security and safety shall be applicable.
- 2. The undertrail prisoners of Diu District Prison shall be produced before the local court through Video Conferencing System, as far as possible. In exceptional cases, they should be produced before the Court along with police escort party from Diu District. All such expenditure for this production shall be brone by the Daman & Diu Administration.
- 3. As per the provision of Jail Manual, the proposed expenditure on arrangement of security guards based at jail (salary of guarding staff, allowances etc.) shall also be reimbursed from the Daman & Diu Administration.
- 4. As per the daily expenditure relating to the prisoners (food, clothing, bedding, water and electricity and building repairing etc.) Rs. 190/- per prisoners, i.e. Rs. 5700/-p.m. and looking to the wages allowances and expenditure of treatment, the applicable amount shall be recovered every month. There is possibility of variation in such expenditure looking to the average expenditure on food and other items. In the event of serious illness, if a Prisoner is referred to a hospital out of headquarter, the total expenditure shall be borne by the Daman & Diu Administration.

5. Payment will be made on the receipt of detailed monthly expenditure submitted to the Daman & Diu Administration by the Prisons Department, Government of Gujarat.

After following the above procedure, the prisoners shall be transferred to the Amreli District Jail immediately.

This is issued with the approval of the Hon'ble Administrator, UT of Daman & Diu and Dadra & Nagar Haveli, vide diary No. 230405 dated 19/07/2017.

Sd/-(Gurpreet Singh) Deputy Secretary (Home) Secretariat, Daman.

**※※※**